Name: Y3 Mental Arithmetic: 20 mins (Time taken: ) Score: __ out of 27

£82 x4 = Double 32 =
8370 = 8000 +
48 - 4 = 1000 more than 9920 is 62+3 =
895-17 = 10.8kg + 10.59kg = 3x4x2-=
Half of 90 = 1000 - 700 = 100x 10 =
Half of 70 =
Half of 30 =
(1 mark = all correct)
£480 + 10 = 50x4 =
1000 less than 1920 is




4,500ml + 4,500m| = £62x2 = 1000m — 452m =
£9845 - £3323 = 491 + 30 = 3 of 35

4x3x6= Half 641 = 295cm + 100cm =
555+ 5 = Double 242 = 21+22% =

https://nrich.maths.org/8495

If you managed to complete this in less than 15 minutes, why don’t you try one of the challenges on the
following website. Bring it in on a piece of paper and show us what you managed to do. Good luck!




